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PART -C (i)
ENGLISH

Choose the most suitable option from the options given below :

1. When Moon comes in between Sun and the Earth, then it is called the
lunar eclipse.
(A) an, the the, the (C) an, a (D) a, the
2. Dr. Kentis the option for a heart surgery in Mumbai.
(A) better (B) good (C) worse
3. My friend the answer to the question.
\—4AY knows (B) known (C) had knew (D) is knows
4. It was lightning it did not rain.

(A) however (B) and _{G)-although (D) because

5. Where the motorcycle ?
(A) did you parked  (B) youparked  (C) will park  (\._{(Dj-did you park

6. “Chitra, go and buy some tomatoes potatoes from the market”, said her mother.

(A) more (B) with ey and (D) for
7. Which team the game which was played yesterday ?
(A) will have win ; i b e
(C) win (D) have won
8. Charlie went to Chicago with Tom on a train that travelled the Midwest and
Prairies.
(A) in (B) on \_~CY through (D) from
9. | have to buy loaf of bread from the Golden bakery.
(A) the wﬂf
(C) an (D) No article required
10. I'm very tired, over four hundred miles today.
(A) |drive (B) | am driving
(C) | have been driving w‘im driven
E 16
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Questions 11-12 : Mark the Antonym of the following :

11. Amusing
(A) Silent (B) Later @ (D) Nice

12. Aristcprat

] (B) Liberal (C) Conservative (D) Amateur

13. The meaning of word ‘Pandemonium'’ is
(A) persuasive speech (B) monologue

(C) bombastic @

(Questions 14 to 18) Read the given passage and select the most suitable option :

Tea was first grown and used in China. It was first used as a medicine and then it became
a popular drink, It is now grown largely in India and Sri Lanka. Tea is also a very popular
drink in Japan. The habit of drinking tea has now spread all over the world. It is perhaps
the most popular of drinks. People find it very refreshing after hard work_ It is practically
harmless that is a reason why it is very popular. Usually some tea leaves are put in
boiling water, which is then strained and taken with little sugar and milk. Some boil tea
leaves in milk and drink it with sugar and spices. Another way is"lo prepare tea with
sugar and lemon juice. Chinese boil the green leaves and drink green tea. It is also said
that tea has some medicinal powers and could be useful for heart. Tea therefore is a
popular beverage and is loved by all. Tea is also astonishingly easily available across
the globe. /

4. What is the meaning of the word ‘popular’ given in the passage ?
{4 Friendly (B) Admired (C) Acknowledged (B) Beautiful

15. What is the meaning of the word 'strained’ used in the passage 7
(A) to pour the tea out of a sieve or filter
(B) to twist the tea leaves for better brew
(D) to twist the taste by putting lemon and sugar

. What was the initial use of tea ?
(A) As a spice (B) As holy water
\_4C) As a medicine (D) As a sweetener

17. In which country tea is a popular drink as ‘Green Tea' and tea leaves are boiled in
water and then drunk ?

(A) Japan . (B) Srilanka  (C) India L_Lﬁ@r

17
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18. What is usually added as a sweetner in tea ?
(A) Sugar free (B) Jaggery

D R R

(D) Cane Juice

Select the correct meaning of the given proverbs and phrases. Choose the correct option :

19. A pot calling the kettie black.
(A) Pot and kettle are usually black
~ (B) All persons are either good or bad

" ] Do not criticize another person for a fault you may have doneyoursetf
(D) Everyone has an opportunity to be successful and critical of others

wfcloud has a silver lining.
Every unpleasant situation has a positive side
(B) Do not be deceived by appearances

(C) A friend who helps one in trouble is a real friend
(D) Clouds usually are of silver colour

21. We never miss the water till the well runs dry.
(A) Everyone remembers his parents in good or bad times

X (B) A persons nature is difficult to change

Do not worry about something before it has happened

22 There is no love lost between them.

w The two of them love each other dearly
(B) The two of them dislike each other
(C) The two of them have a great regard for each other
(D) The two of them were in love with all athers

ou only realize the importance of something when tt_ls_Emﬁl

Questions 23-24 : Mark the Synonym of the following :
23. Affluent . e

(A) Neutral @F Eaithy! [ (C) Handsome

24, Lethal
eadly (B) Easy (C) Averse

(D) Sentimental

(D) Difficuit

25. Convert the following to Active voice from Passive voice.
Admittance was refused to him by the guard.
(A) He was refused admittance by the guard.
(B) Guard could refuse admittance to him.

e admittance was refused to him by the guard.

The guard refused him admittance. 1
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